1. X9 3ol ac.d.eol T, ¥2l 3ol bedolA (X.v) 2 o] 3ol 2=
2Ae] A4 Fokolat,

B gl



A
v\5 nn e 1ol
S c

[Te)

I
ol
ofie
—_
N
= =
ﬂA_yl Oa n_/ua

<t
~ @ @
Al
%
vw ~—
oF X
A
A < O @
=5 o_‘_
,L./l ey @ @ @



H (a, b)7FA 242 919 HE o, v & Al 3AREH 9] H27

@ (b, a) @ (-a, b) ® (a, a-b)
@ (ab, D) ® (ab, a+b)



o 7 7Pt

g T 1T =

ohg

4.

® y=-x

= 0=

— | | <f
Il I
ENEEN
Q@ ©
=

= A O
™ |
Il Il
ENEEN
Q@ @



082 29 4y = f(x) o] Aot
:30 IIH a+b—4 71—_




6. % Al b-2),BBb, a+1) 7hx & 9ol A3, A C o] HuI}
C(2a+b, a+2b) 4w, sAABC 9| {olE 75HH?

@ 6 22 on @Z o



7. HPab)7tA4AEH 9 AL W, ] A(@®, b-a) = A2
AREE $19] HR17E?

@© A1 AEH @ Al 2 A9 ® Al 3 AHEH

@ A 4 AFEH B x=9






919 A P,& vl thsto] Aol ET HE Py, A Py B A
y = woll thote] o5 e Py, A Py S y 3ol thate] thaols
AL Py, 2 5t0l, o] WAL WEsto] AATIT 4 Py(3.-5)

7t Fo1 & w, A Pos o] EE Pos(ab) 2 & 1, b - a9l G227

@D 5 @ 6 3 7 @ 8 3 9



o2 I8 Zo] AA y = 4x 9] o H A4 x=o LH 24 9]

TSt y = ax,y = bx Q] A= 42+ AOB 9
3o T, a-b9 F2?

sk

Y y=4x




